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PLANET HUNTERS

Do you see a transit?

If so, highlight it on the light curve below!
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Star Information

Magnitude N/A Type K-Dwarf

Temp 6076
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Planet Hunters: impossible light curves?
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Classes of super-preshowers
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GEOMETRY OF OUR SIMULATION



.1 do think CREDO has a unique capability of entering in and exploring
a completely uncharted realm of science.” Mikhail V. Medvedev
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Cosmic-Ray Extrémely Distributed
Observatory (CREDO) :

Enables a strategy for a global analysis of cosmic-ray data to reach the sensitivity to extremely extended cosmic- i

ray phenomena, we call them super-preshowers, invisible for individual detectors or observatories. So far, the " .
cosmic-ray research has been oriented on detecting single air showers only, while the search for ensembles of
cosmic-ray events induced by super-preshowers is a scientific terra incognita.
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OUR WEBSITE:
CREDO.SCIENCE
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.l do think CREDO has a unique capability of entering in and exploring
a completely uncharted realm of science.” Mikhail V. Medvedev
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Dark Messengers might like coming to Earth in groups. They penetrate the matter, that's why your smartphone
can catch one even in a building. But one is not convincing - we look for a group. Scan the data provided by other
users and make sure whether your catch belongs to a group
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THE QUEST FOR UNEXPECTED

THANK YOU FOR YOUR ATTENTION!

To get up to date information visit our website
credo.science
If you wish to contact us then email us at:

projektCREDO@gmail.com



DARK UNIVERSE WELCOME
O o m——— Asour curssiy couscr

Help scientists solve one of the
greatest mysteries of the Universe.
What are Dark Matter and Dark
Energy?

For live experience visit:

www.zooniverse.org/projects/credo/dark-universe-welcome



2017-02-03118; Al=16.3 msec, value —0-020

Can you see a trend on any of these graphs?

# | can see a trend on both graphs

# |can see a trend on one graph

®= There isn't a trend on either graph

#= Both graphs are a complete mess

Need some help with this task?

Show the project tutorial
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2017-02-08118:4228 551 CE 1, AIZ162msec, pPoas.

Can you see a trend on any of these graphs?

* |can see a trend on one graph
* There isn't a trend on either graph

» Both graphs are a complete mess

Need some help with this task?

Show the project tutorial




2017-02-03T18:43 28551 CET,  AlS162 msec,  pygye =0.132

First, what can you see on the longitude {bottom) graph (choose all that
apply)...?

= A positive trend all the way across the graph
= A negative trend all the way across the graph
®m A positive trend across some of the graph

® A negative trend across some of the graph

No trends at all

Need some help with this task?

Show the project tutorial
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First, what can you see on the longitude (bottom) graph (choose all that
apply)...?

= A positive trend all the way across the graph
= A negative trend all the way across the graph
= A positive trend across some of the graph

= No trends at all

Need some help with this task?
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2017-02-03118 551 CET,  AE16.2msec,  pygye =0.132

...and now on the latitude (right) graph (choose all that apply)?
® A positive trend all the way up the graph

= A negative trend all the way up the graph

A positive trend up some of the graph
= A negative trend up some of the graph

® No trends at all

Need some help with this task?

Back

Show the project tutorial
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2N 7-02-03118:4928.551 CE 1,

A= 16.2 msec,

-.and now on the latitude (right) graph (choose all that apply)?
= A positive trend all the way up the graph

= A negative trend all the way up the graph

= No trends at all

Need some help with this task?
S —

Show the project tutorial



2017-02-0311¢
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Would you like to draw the trend(s) you can see?

Need some help with this task?
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Show the project tutorial




201702-03118:4928551 CE 1,

At=16.2 msec,

Poa

"

Would you like to draw the trend(s) you can see?

Need some help with this task?

oo |

Show the project tutorial



Thanks!
Your classification:

2017-02-03118:49:28.551 CET,  A1=16.2msec, P ge =0.132 1 *

Can you see a trend on any of these graphs?

©| can see a trend on both graphs -

First, what can you see on the longitude (bottom) graph (choose
all that apply)...?

@ A negative trend across some of the graph -

...and now on the latitude (right) graph (choose all that apply)?

@ A positive trend up some of the graph -
& A negative trend up some of the graph

getections
Would you like to draw the trend(s) you can see?

Line (3 lines marked) -
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Thanks!
Your classification:

20702031 184%28551 CET, A=16.2 msec, p

value

Can you see a trend on any of these graphs?
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©| can see a trend on both graphs ‘More

First. what can you see on the longitude (bottom) graph (choose
all that apply)..?

& A negative trend across some of the graph -

-.and now on the latitude (right) graph (choose all that apply)?

& A positive trend up some of the graph -
& A negative trend up some of the graph

Would you like to draw the trend(s) you can see?

Line (3 lines marked) -
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FUN STARTS ALL OVER AGAIN!

2017-02-03T18:35:49.791 CET, A=10.8 msec,  pge =0.020

Can you see a trend on any of these graphs?
# | can see a trend on both graphs
#= | can see a trend on one graph
# Thereisn't a trend on either graph

#= Both graphs are a complete mess

Need some help with this task?

Show the project tutorial
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